3/17/2021

National Testing Agency

Question Paper Name :
Subject Name :
Creation Date :
Duration :

Number of Questions :
Total Marks :

Display Marks:

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

B TECH EMA 17th March 2021 Shift 1
B TECH EMA

2021-03-17 15:29:44

180

90

300

Yes

B TECH EMA

1
86435131
0

180

Physics Section A

864351181
1

Online
Mandatory
20

20

80

Yes

1
864351181
Yes

Question Number : 1 Question Id : 8643512701 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



3/17/2021
A car accelerates from rest at a constant rate « for some time after which it decelerates at a
constant rate  to come to rest. If the total time elapsed is t seconds, the total distance
travelled is :
Options :
2a B

8643518101, (@ T B)

o 3
2 + B)

t2

8643518102.

Ao B
(e + B)

8643518103.

o B

8643518104, T (@ T B)

Question Number : 1 Question Id : 8643512701 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
80} &0 apnalen dluvmeainimoald odflimie o EeaIMOIeRlHs CUM®m OB,

@AM EUato @RAIOMT COUIW® d@hIOWIH®Io B ag)m @ralmoid agamil@alm) etato
afloziaimoauynm). enaflmomll &0 ag)Siem Moo t OISO @ReemeEslad &ob emonm i
merl@la) Bieo ag)® ?

Options :
2af 5
—— t
8643518101, (@ T B)

|« B ¢2
8643518102, 2+ B)

4 B 2

8643518103, (@ B)

o B

8643518104, (@ T B)
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Question Number : 2 Question Id : 8643512702 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A modern grand - prix racing car of mass m is travelling on a flat track in a circular arc of
radius R with a speed v. If the coefficient of static friction between the tyres and the track is
b, then the magnitude of negative lift F; acting downwards on the car is : (Assume forces on

the four tyres are identical and g=acceleration due to gravity)

[

Options :
112
m R I y_}
8643518105, . /
2
m{g IRW
8643518106. - G
o
= y_}
8643518107. ' /
t?z
m ET_| —RW
L
8643518108. \ b

Question Number : 2 Question Id : 8643512702 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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m aflemwnigs @pWiNle (oM llsam eoalmiloss &od ajemanyEiaielss R eoomes
80} aldmm Soesild v eeun®mad merdlken;M). agiMmodd Hodlemd SWOmalo [SIE)o
madflengsy coefficient of static friction ., @0ea o Hodlon moslaiad pensoalim magnitude
of negative lift F| (moal} s@0idglaljo @mENa]sim cand¥m aagabadliglenalio

g =acceleration due to gravity o dlallaicd @oemmomilensmo)

&

Options :

o2
m[ R t g_]
8643518105,  \''S

2
m| g
psR
8643518106.

IJZ W
ps R k'J

I'l'l[

8643518107. :
I?z 1
s R

m{y_ }
8643518108. 4

Question Number : 3 Question Id : 8643512703 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A Carnot’s engine working between 400 K and 800 K has a work output of 1200 | per cycle.
The amount of heat energy supplied to the engine from the source in each cycle is :

Options :

8643518109. el
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8643518110, 1000 ]

8643518111. 5200 ]

8643518112. 1300 ]

Question Number : 3 Question Id : 8643512703 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
80} Hodemogenm agmeld 400 K #6jo 800 K #0)0 eS8 (alaudmslenimy. eoalon

UdSS &v5alls 1200 | per cycle @pem. @0end eemdes gleljo agidelmlea ss’

OHIS)CHNMNBIMM BOC 0D ag)d@oem ?
Options :

8643518109. 2400 ]

8643518110. oE)

8643518111. 3200 ]

8643518112. 1800 ]

Question Number : 4 Question Id : 8643512704 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A solenoid of 1000 turns per metre has a core with relative permeability 500. Insulated
windings of the solenoid carry an electric current of 5 A. The magnetic flux density produced
by the solenoid is : (permeability of free space =47 =107 H/m)

Options :

a_
8643518113, 0w T

3
8643518114, 2%10 % T

] =

8643518115.
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8643518116, " |

Question Number : 4 Question Id : 8643512704 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e0) dlgolad 1000 - aQidalo @DEalsdld ljoaiMo 500 MIER B0 ECHIENIS) dhSIw

crvoglemoafial’ eng.  emodlemoaiiafle allayaerowm angiekalaens 5 A &0
B89140imy.  emoglemoaiaw’ 9ejodlaflanim HonTlsH qflom moEmWIM

(ymoees aalddlomllelg] =4wx10~7 H/m)

Options :
104+ T
8643518113
3
8643518114, 2107w T

|4

T
8643518115. 2

8643518116, " |

Question Number : 5 Question Id : 8643512705 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A current of 10 A exists in a wire of crosssectional area of 5 mm? with a drift velocity of
2x1073 ms~ L. The number of free electrons in each cubic meter of the wire is

Options :

]
8643518117, 2107

23
8643518118, 1 <10

- 25
8643518119, ©25x10

25
8643518120, 2% 10

Question Number : 5 Question Id : 8643512705 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

5 mm?* eanad aflielidepaies 2x10 7 ms™! pladg ealcanmiglogs. ey cuodid,

10 A s0mMiee. ag@ldd, cau@dleq aoerd dymlilde algalaljo 9EMBIdIM qVIm (D

i

EDEIBBISOM A0S ag)eo @6,
Options :
(]
8643518117, 2 <10

23
8643518118, 1 %10

: 25
8643518119, 022 %10

25
8643518120, 2 10

Question Number : 6 Question Id : 8643512706 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A mass M hangs on a massless rod of length I which rotates at a constant angular frequency.
The mass M moves with steady speed in a circular path of constant radius. Assume that the
system is in steady circular motion with constant angular velocity w. The angular momentum
of M about point A is L , which lies in the positive z direction and the angular momentum of

M about poi_nt B is LB' The correct statement for this system is :

Options :

L A and LB are both constant in magnitude and direction
8643518121.
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8643518122. L, is constant, both in magnitude and direction

LB is constant, both in magnitude and direction
8643518123.

L. is constant in direcion with varving maenitude
8643518124, B S i

Question Number : 6 Question Id : 8643512706 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
8} allemwo M 80} allmuoadi® (massless) cemuldd @ eslaigisieamosm. enallen olgo

I. M allerwo udlemo@ &m) ehoemle @pa)omlellad (angular frequency) cuoom
aU@l@omemd  emjo  MERem o afMm  qudleeeoemlen alyemlol
al1efl o))edmoendl dlaeim). @M esHoemld: @EUMe (angular momentum) A ag)(m
enllazjallmy angle Ly @oem’ oo qudlalloaigimmna z calomilglal dlirald ewen.
CHO6MI@ @RHeo (angular momentum) aeRony enllozy B m) aliqlo Ly @oem agomomd
00 MEREED B1Glo)ies AW EIMmICm af® ?

Options :

L, @wio L, @io cudlnasw asurlquadele dlvealenmoern.
8643518121, L s A)aielo s

8643518120, LA mudemoa movdigualiele dlualeljmoey

8643518123, s udleaodl aovrigyadiene dluoaieymoeny

0643518124, 1B agyma qudlomo® dlraled mouriguasiad alieil@ommies modsim).
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Question Number : 7 Question Id : 8643512707 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An AC current is given by [=1, sinwt+ I, coswt. A hot wire ammeter will give a reading :

Options :

8643518125. V2

8643518126.

[

8643518127. \l

8643518128. ‘\I

Question Number : 7 Question Id : 8643512707 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
80} AC 06EY® (aludano [=1, sinet+], coswt ag)mm madslDldlenim). &)

®oalauoadiril@o® cu@d @ralgd meleim dladlowd :
Options :
L+ 1

8643518125, 2

8643518126.

8643518127. \(

8643518128.
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Question Number : 8 Question Id : 8643512708 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A polyatomic ideal gas has 24 vibrational modes. What is the value of v ?

Options :

8643518129, 10-3

8643518130, 13U

8643518131, 1-03

8643518132, 1-37

Question Number : 8 Question Id : 8643512708 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
60} ealogl @uenodle: eagulle@ wpmial (polyatomic ideal gas) 24 &baum @lallaid eens
(vibrational modes). ag)mo@d, y @iOS mieljo e ?

Options :

8643518129, 10-3

8643518130, 130

8643518131, 103

8643518132, 137

Question Number : 9 Question Id : 8643512709 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When two soap bubbles of radii a and b (b > a) coalesce, the radius of curvature of common
surface is :

Options :
ab
b—a

8643518133.
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8643518134.

8643518135.

8643518136.

Question Number : 9 Question Id : 8643512709 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ab
at+b

.ba

ab

.alb

ab

O6NE" BIM0a b A8 HR1HS @DOEBWD a @lo b @lo (b > a) dh)s] @Al BIMOdh)E MM,

(UHDOW EHAUWIOS OOl MEITBRIOS @D af)®@owfdlesnio?

Options :

8643518133.

8643518134.

8643518135.

8643518136.

Question Number : 10 Question Id : 8643512710 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

" ab

b—a
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A triangular plate is shown. A force F = 4.1". ”r; is applied at point P. The torque at point

P with respect to point ‘O" and ‘() are :

Ya

> X
Options :
8643518137, — 15 — 2043, 15— 2043
8643518138, 15 + 203, 15 — 2043

8643518130, 15 — 2043, 15 + 203

8643518140, 13 +20¥3, 15 + 203

Question Number : 10 Question Id : 8643512710 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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31712021
80} (Wlewoem oploflenss el (plate) dmoemlenma. A fnrce? = 4i - 3] Pagm
enllmyall@d (elewoflensqalsimmosm. agmmoad oalleal aljvgienielo (torque) P agyom
enflo3iadldd ‘O'agym enflozjaflomm@ie ‘Q° agymn endlmsallom)e eowonmoes] agmosy

Ya

» X
= f—10 cm———H Q
Options :

s643518137. — 15 — 2033, 15— 203

15 + 20./3, 15 — 2043
8643518138,

s643518139, 13 — 2043, 15 + 2043

8643518140, —15 + 20V3, 15 + 203

Question Number : 11 Question Id : 8643512711 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two identical metal wires of thermal conductivities If-i.f and I(2 respecfivel}f are connected in

series. The effective thermal conductivity of the combination is :

Options :
K1 Ky
K+ K
8643518141.
- 2K;3 Ky
Ky + Ky

8643518142.
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Kq + Ky

-
8643518143, -1 52

Ky + Ky
8643518144, 112

Question Number : 11 Question Id : 8643512711 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e eafWdlend GeI0ad AUROIHBINS ®IUNOAUGY® &HHUD® LI (Mo
K, 90 K, 90 @mem. ol &o) cwyemlaa caislaflafldleniom). agomoad snau@ies

MoW]&Maneini® @NodmAMTIE Nz @IOONUG® LB agl@mwos) ?

Options :
- Kp Kp
g6a3s1s141, 1T K2
2Ky Ks
Ky + Ko
8643518142.
Ky + K»
"jf -~
8643518143. o B
Ky + Ks
8643518144, o

Question Number : 12 Question Id : 8643512712 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A boy is rolling a 0.5 kg ball on the frictionless floor with the speed of 20 ms 1. The ball gets
deflected by an obstacle on the way. After deflection it moves with 5% of its initial kinetic

energy. What is the speed of the ball now ?
Options :

8643518145, 1.00 ms ™!

1
8643518146, T4/ mS
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1
8643518147, 1441 ms

1
8643518148, 190 ms

Question Number : 12 Question Id : 8643512712 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
an] @perdda)gl 0.5 kg @0Mes 680} alnd dlmimacw &n) ®@odlaes 20 ms ! agm

mfleiss) ®i5mM). aflen memioe alomald om 6oy msquee® emdisiam) oalen
@aE) alelemodredflon 5% mlenmoem’ fealowd oesnm®IG DEaloid DY almilen
@LOod®MA UW® ag)mmoen) ?

Options :

1
8643518145, 1-00 ms

1
8643518146, +3/ ms

1
8643518147, 1441 ms

1
8643518148, 19:0 ms

Question Number : 13 Question Id : 8643512713 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The thickness at the centre of a plano convex lens is 3 mm and the diameter is 6 cm.  If the
speed of Iight in the material of the lens is 2 x10%® ms 1. The focal Iength of the lens is

Options :

8643518149, U cm

8643518150, 15 cm

8643518151, 12 €M

8643518152, 030 cm
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Question Number : 13 Question Id : 8643512713 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
B0} gJOEMO CHIEMOCLHIY arImian aauneIwemm dhmo 3 mm Ho Mo (diameter)

6 cm Qo @YEN. (lHomTlON euw®m oo eadmilo caagiald 2x10% ms™!
@peemeld, eeddmnilon aavyemld dlor esmmlloialecasnias ajoo (focal length)
ag)@®osmy ? (HmOZSIm aljdemmvosnwiiad)

Options :

8643518149, 30 cm

8643518150, 10 €m

8643518151, 1= cm

8643518152, 0-30 cm

Question Number : 14 Question Id : 8643512714 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which level of the sf_ngle ionized carbon has the same energy as the ground state energy of

hydrogen atom ?
Options :
8643518153, 1

8643518154.

8643518155. ©

8643518156.

Question Number : 14 Question Id : 8643512714 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
®I6Y OIS AleeMUDEd af®moem aeaniwRM® EREFlen (ome 9IdoR

dlewmod] miel podoe rleiwes @mobenlerlon afde @oesnlke: snimbm ailal (single

ionized level) ?
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Options :

8643518153, 1

8643518154, 4

8643518155, ©

8643518156. 5

Question Number : 15 Question Id : 8643512715 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two ideal polyatomic gases at temperatures T; and T, are mixed so that there is no loss of
energy. If F; and F,, my and m,, n; and n, be the degrees of freedom, masses, number of
molecules of the first and second gas respectively, the temperature of mixture of these two
gases 1s :
Options :
n{T + noBT,

8643518157. i Re

.anlTl { I'IzeTz
8643518158. F+5K

: n 1 Fl Tl + n 2 Fsz
8643518150, MiF1 + ok

. n 1T1 + n 2T2

|

8643518160, 1 M2

Question Number : 15 Question Id : 8643512715 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T, T, agm] ©vadmocjdalad 988 neng’ eagulwed calog] @reqodle: CUImBEE 0D
aloMinlon &jSkeaademimm). omialelo 9UdER Madse emomam gemsoamilgl. F,
F,, m; o m,, n, n, ag)Milcy @L0o(dhae Mzallallenimae’ 0ens) UM HETRRIOSW o MM
(freedom) allembo (mass), MMOOHEIOS af)épo (number of molecules) 60O o6,

afmotd eauwes diwloadien @moaldiel ag@moem ?

Options :

. n 1 FI TI { I'IzeTz
8643518157. By iy

: n 1 FITI 1 I"Iz FETZ
8643518158, B

. n IFI Tl | I'IzeTz
8643518159, Tif1 + mabo

.I"ITI 1 I"ZTE
8643518160, ™M T M2

Question Number : 16 Question Id : 8643512716 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For what value of displacement the kinetic energy and potential energy of a simple harmonic
oscillation become equal ?

Options :
Wt
8643518161, ¥~ A
8643518162, ¥ =
A
Tr= “+
8643518163. V2
A
r— o=
-
8643518164 =

Question Number : 16 Question Id : 8643512716 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

®IOP OdHOSOTlOMUDEd af@ cuoomEote mel@TMoeT) B0} MRS andEMIENTld:

eaoaim@dilon cmudaleaodenlio nalledmodeale @eymonll almimN).

Options :
8643518161, ¥~ ~ 4
8643518162, ¥=10
&=k i
>
8643518163. V2
A
X = ?
8643518164, <

Question Number : 17 Question Id : 8643512717 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The output of the given combination gates represents :

A

B

Options :
8643518165, AND Gate

8643518166, [VOR Gate

8643518167, NVAND Gate

8643518168, OR Gate

Question Number : 17 Question Id : 8643512717 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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MY &hISIAMIdlenlmMm alll@omm EDWICMIHIIWIE] VAWIW EC&omllemanad

CUWRIGLEINS BVZallS aR@oem ?

A

B

Options :
8643518165. AND Gate

8643518166, NOR Gate
8643518167, [NAND Gate

8643518168, (OR Gate

Question Number : 18 Question Id : 8643512718 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An electron of mass m and a photon have same energy E. The ratio of wavelength of electron
to that of photon is : (c being the velocity of light)

(=)

c (2mE ]'1'5

Options :

8643518169.

8643518170.

8643518171.

8643518172.

Question Number : 18 Question Id : 8643512718 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

‘m’ MOMIBR 0] NLIGERINIMie MOROM] Gande5oemImio 6Ber VMo E apem. agmocd
EDEIHESIeTIOMWic Gnnie5eMInM@ic Moow HeOBHALYMBD ®amlelgs @omlaldomo
ag)lm@oem ? (c ([lsonaEmien eolnm)

Options :
1

[

8643518169. (sz

c (Z2mE ‘J-l"é
8643518170.

1 (2m V%
< (F)

8643518171, =~ =~

2m

i (Lf

8643518172.

Question Number : 19 Question Id : 8643512719 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The vernier scale used for measurement has a positive zero error of 0.2 mm. If while taking
a measurement it was noted that ‘0" on the vernier scale lies between 8.5 cm and 8.6 cm,
vernier coincidence is 6, then the correct value of measurement is cm.

(least count=0.01 cm)
Options :

8643518173, 5-08 cm

8643518174, 8-26 cm

8643518175, 04 cm

8643518176, 5-30 cm

Question Number : 19 Question Id : 8643512719 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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@80 E00Moe Halewodilafloym an) acudedwd minaealelln) 0.2 mm 6 ealomigial
mle0o agod . e} eudimwd mesdld eegal ®ldep@EHIMmo W
falewoudl ojeqjoid ecuderd Minmeltd @O HemeEnisn)m mawe® ‘0’ ecudsmlwd
mie @@l 8.5 cm Mo 8.6 cm Mo E0S@ds) 6 ag)m &06miles)m) (coincidence). ag)mnoad,
07 aoadeades @AM e ag)@@oem . (least count=0.01 c¢m)
Options :

8643518173, 598 cm

8643518174, 8-56 cm

8643518175, 5-24 cm

8643518176, 536 cm

Question Number : 20 Question Id : 8643512720 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
[f an electron is moving in the nth orbit of the hydrogen atom, then its velocity (v,) for the nth

orbit is given as:
Options :

2
8643518177, n ~ 1

t
8643518178. "

8643518179. L

Up =

=

8643518180.

Question Number : 20 Question Id : 8643512720 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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80) MEIHESIN eewwrmd @pewled nth (@aemanewl@  (orbit)

&OsTEIOE006ME Bl Ee)MN). @oea o @eallen (ieaiwo (v,) agmod, nth (@memaloevd

ag)mnas
Options :
v, * n?
8643518177.
v, *n
8643518178.
1
U & —
8643518179. =
1
Un E
8643518180.
Physics Section B
Section Id : 864351182
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351182
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643512721 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

km? of maximum service area will be covered by

For VHF signal broadcasting,
an antenna tower of height 30 m, if the receiving antenna is placed at ground. Let radius of
the earth be 6400 km. (Round off to the Nearest Integer) (Take 7 as 3.14)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 21 Question Id : 8643512721 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

VHF avlonad oG addsem@ml af km? ale@ocuul eUOUIMAIB)® (aIGRUo
@DCUEeMe 6.21QPad 30 m ealdddo (height) £88 @@EM@IeM’ alecwouilenima. e
@ @m ar) (oeddd muooallaflgigamoen ejdliucanmman @roe 6400 km @mem.
(o®0gsa® aljdemivos)diicalss) m Qi)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643512722 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[f25x10 " ¢N average force is exerted by a light wave on a non - reflecting surface of 30 cm?
area during 40 minutes of time span, the energy flux of light just before it falls on the surface

is W/cm? (Round off to the Nearest Integer)
Assume complete absorption and normal incidence conditions are there
P p

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643512722 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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2.5x1076 N wononnal el (force), 60} ldhdtd Moo Hale@IUilal &Slo
ad@flanaimdlgioem 30 cm? &) mel lnlecnem 40 dluigle mawesadaelomia
aflofleouiienimy. lnldovo al@laaymaiion mydbal (ald-oewobzanilen 6¥)e6) (The energy
flux) W/em? (o@m25530m aljdem muosj@iGeles) mogids)

(a)demmo® @D Uldmemallo MOWIREMMIN MoBQ al®mMmonimawimoem @valles
HRBOMM @OMIDITIIH6) )b )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643512723 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Four identical rectangular plates with length, I=2 cm and breadth, b = cm are arranged

2 | w3

. : i i . XE i
as shown in [ igure. The equwalent capacitance between A and Cis =9 . The value of x is

(Round off to the Nearest Integer)

d d d

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 23 Question Id : 8643512723 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3

moel agMlead oot |Qimales migo =2 cm go aflall b= — cm ag)arias @moey

3|

aflmeriied adosiebidlenimmiealoneal moallwome eoidmldlenimm). enalim) mielmow
dhajomilgmdmi A @seje C djo sulldd oaan % @M. ag)(MmOEd, x &M melo

@b, (O®ISSID aljdepronlj@icd @wHed)

d d d

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643512724 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The equivalent resistance of series combination of two resistors is's’. When they are connected
in parallel, the equivalent resistance is ‘p’. If s=np, then the minimum value for n is
(Round off to the Nearest Integer)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 24 Question Id : 8643512724 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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@6nE [l @llemowestBalns (resistance) ewaen dlgysmanen @il (l@lenowo ‘s’ @RI,
@oal maMea @] caislaflaniemid® ®ie) (ldlerdwo agM® ‘p’ @RI s=np
@DOM®BITD n OAY BHIO6TH djeljo . (omogsiEm™ al)deNmonlict @)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643512725 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A parallel plate capacitor whose capacitance C is 14 pF is charged by a battery to a potential
difference V=12 V between its plates. The charging battery is now disconnected and a
porcelin plate with k=7 is inserted between the plates, then the plate would oscillate back
and forth between the plates with a constant mechanical energy of pl-

(Assume no friction)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643512725 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

80) MaMe eglq dojomiigdld @ealaf dwqlomlgmdmy C agmae 14 pF, cudlaild
m&mﬂmmmo {m%ﬁgﬁaoﬁmﬂsmﬂm‘bj (potential difference) V=12V between plates @@ ET:‘I_IDQDT
falewouilal nl0d®e ©algymM). D olodxloed’ miogal Meqjod @ewlad aflom
allegldlenisio 6} k=7 @@ calodmilallad eqld, eqlRisasiisela munoallenawio
§-01Q)IMN). @eCa |0 egq minilealsnio aljosleaidnio 0] qudlomow @o(TileddB®eo

p] cwoes alellanimy.  (OmOSSIEM aljdemauoswieaiss mogid)
(ceidayemo &5lo MO ©EMBAMTIR| ag)T) @RMIMONlHe jdb:.)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 26 Question Id : 8643512726 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The radius in kilometer to which the present radius of earth (R =6400 km) to be compressed

so that the escape velocity is increased 10 times is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643512726 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ag)iedal ealemidgl meqlo® saadlon al@m) aser) @AM @eawlch cialwies
@0o eajotd eagiad mlimjo @@l aljo)eoemo. (R=6400 km)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643512727 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The angular speed of truck wheel is increased from 900 rpm to 2460 rpm in 26 seconds. The
number of revolutions by the truck engine during this time is

(Assuming the acceleration to be uniform).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 27 Question Id : 8643512727 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

26 emMEOMICd B0} (SHTIOM iBOTHaN esoemle eaun® 900 rpm @ allom’ cudadlaf
2460 rpm GRIHE af)@MIMN]. af)MOT D MaEW (Sa6lam) agmdxlaila gemsow
OOOUBHMIBRINS af)dpo af)® ? (6mOSSiOD aljdemmosljaiealds mogidh)
( evalles mjoemo ®el Mleseildd @pasmaT @RmMMINTlead)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 8643512728 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Consider two identical springs each of spring constant k and negligible mass compared to

the mass M as shown. Fig. 1 shows one of them and Fig. 2 shows their series combination.
.

The ratios of time period of oscillation of the two SHM is Tt';ﬁr = u"; , where value of x is

! d

(Round off to the Nearest Integer)

LI LR

- i
< =
"
Ta Tb
=
Fig 1

Fig 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643512728 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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(fler cudlootho k @je momy’ M @moefl mon®m@ie 6.21Q)IemIdtd 8F10LI0SHOCLIM ORISR
allieevilaga®m) enloeal menz) maom ((flot)etd aldlmemilen)s. @l aargpo allmo
1 @ @oemlafdlenim). ofime 2 @eu@es euyemlenimbmoe @&oenlenim). 600l mens)

Mg anodeaoeile: aleimo MsEMilweaod @D EEoaIMAman ERUBMDM®HILITRRINS
"]" s = "
@oM]l0mo }}ﬁra =Jx @pem, males x - o@ allawoem . (emogsiom

aljdepmosljaiiealss mog)dh)

LI SEEEIE S0

. S
: —
Ta Tb
=
Fig 1
Fig 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643512729 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The following bodies,
(1) aring
(2) adisc

3

——

) asolid cylinder
(4) asolid sphere,

of same mass ‘'m’ and radius ‘R are allowed to roll down without slippmg simultanenusl}-'

from the top of the inclined plane. The body which will reach first at the bottom of the
inclined plane is

[Mark the body as per their respective numbering given in the question]

o N

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643512729 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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MY OBHISIOTIBIANLM M)alsorsldd,

(1) ewy dloed (Ring)

(2) ey almie (Disc)

(3) e surocumunilad eas milellenad (Solid cylinder)

(4) e} sucocumneldd 988 ewoso (solid sphere)

agyorlaug) @iely aflembo (mass) ‘m’ §o @R ‘R’ Ho @RET. HAIO® H@OM@ EOLJOGD &0}
2IBl6mm (IMEIOTILROS ®ICYHs HOIRINI0M @emUEkenim). afimoad eoauelad af®)
®lal@mO6m afROjo @DEjo MIOY HOIMNE a@MM® . (6®IZS)O0m
aljdepmoosjaiiealss mog)d)

[ojusBO8 @PUWIOS ColR)MTea (bd Moeud alcwowilal ©@LIO(BMO

EDSWORE o S)OND db. ]
.

@ b
B N

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643512730 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Two blocks (m=0.5 kg and M=4.5 kg) are arranged on a horizontal frictionless table as

shown in figure. The coefficient of static friction between the two blocks is F Then the

maximum horizontal force that can be applied on the larger block so that the blocks move

together is N. (Round off to the Nearest Integer) [Take g as 9.8 ms 2]
m
F
M —»

LSS

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643512730 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6N} BEROHeHUd (m=0.5 kg and M=4.5 kg) agomilal gamad esneodomm esenllgld

MOOY & BHOS)ATIA]HNIM®)Caloe el MolWomo e alwi@ uallgleamosm. oenE

e6p]oanMmdHsemesaiiengs qudl@lealidayem qudl@omo ; @@em. 0D M6

G606 b8lo Bralal alellenimm dlalalad aelw eeloslad (e@oullanoaliom

aleaocud] alevalom enlelo @oeny N. (o®@055)@D alidemmoalwileelds) mogid)
[g=9.8 ms~?2]

[m]

Mo

LR

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Chemistry Section A
Section Id : 864351183
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351183
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643512731 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A central atom in a molecule has two lone pairs of electrons and forms three 51’11510 bonds.

The shape of this molecule is :

Options :

8643518191.

8643518192.

8643518193.

8643518194.

pIanar Lriangular

T-shaped

see-5aw

trigonal pyramidal

Question Number : 31 Question Id : 8643512731 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
meng’ celoend ealwd EDEIHE(SO6M]HRIER S0] MMI(BmW]HS Gdb((3 @D HOo, @mJom’

milotSlddeenioeng o)alld:dlanswio .a1Q)mM) 07 MMMIOWRIOS @D

Options :

8643518191.

8643518192.

gJomod (swondmyelod

T-@D ) @
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8643518193, TUIGIVODIOS @Dk

2643518194, S@EM@ allodlanad

Question Number : 32 Question Id : 8643512732 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A colloidal system consisting of a gas dispersed in a solid is called a/an :
Options :

8643518195, aerosol

8643518196, Solidsol

8643518197, [oam

8643518198, 8¢

Question Number : 32 Question Id : 8643512732 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

80} UERAMOOTI@M UImdedo Allmymilalldleniim e&oe80w W@ AljjademEm
alo@oma :

Options :

8643518195, “9PEO0EILICD

8643518196, GTVOEIU” @rvodd

8643518197, Ga0do

8643518198, ET

Question Number : 33 Question Id : 8643512733 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The absolute value of the electron gain c-nthalp}-' of l‘ualogens satisfies :
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Options :

8643518199, I > Cl>Br >1

8643518200, <1 > F>Br>1

8643518201, C1 > Br>F>1

8643518202, | > Br>Cl>F

Question Number : 33 Question Id : 8643512733 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

aDOCRINERMIBEINS NEIRHE(SIeND O af)Muodallwies esmalanlleiies (@mo :
Options :

8643518199, > Cl>Br>1

8643518200, C1 > F > Br>1
8643518201, C1> Br>F >1

8643518202, 1> Br>Cl1>F

Question Number : 34 Question Id : 8643512734 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The point of intersection and sudden increase in the slope, in the diagram given below,

respectively, indicates :

0
-100—
‘!‘Cu * 03 — ZC'JED
-200
~oreC
g qge*o C+ 0, CO,
= ™
I'T—Di < J‘I‘ED‘J '?C 4 D
g -500 1'30 x A?If,p 3~ EE'O
% Rt an* ™
9 700+ R
—SDﬁ I 'lfaP}Pa S
o,
800 438"
o A’Z-mgo
1000 erp g
1100~
1200—
| 1 ] | 1 | 1 | i l
oC 400°C HsooeC 1200°C 1600°C 2000°C
273K 673K 1073 K 1473K 1873 K 2273 K
—— Temperature
Options :
8643518203, AG <0 and decomposition of the metal oxide
! } P o
2643518204 AG > 0 and decomposition of the metal oxide
AG=0 and melting or boiling point of the metal oxide
8643518205.
8643518206, AG =0 and reduction of the metal oxide

Question Number : 34 Question Id : 8643512734 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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®61® eS| ATdlenim wWEDE @damued eato@ldio, equoaflom aaleagmmias
cudavbmlje @dEae agymilem muiallaflenim; ?

0
-100—
4.¢u+03"2cu!ﬂ
=200 =
aFeE-
300 = E?G_YDH Aﬂ_‘—*m:

—> AG'/kJ mol” of O,
-|-‘] 1
3 €
|
v
;
s )

800 o o3
O
800 a[38”
g oMgD
1000~ s * O
1100F
1200+
| | | | 1 | | | l 1
[ 400°C s00=C 1200°C 1600°C 2000°C
273 K 673K 1073 K 1473 K 1873 K 2973 K

——= Temperafire

Options :
8643518203, JC < 0 @io H2Q@ ssvOMAINR aflaismaloe

8643518204, AC > 0 @lo 62q@ sosnemUladd alleaismalo

8643518205.
AG=0 wjo eapmd sosmeemallen eaddgles culodd erag@liad esiowleloud

Gal amﬂ@:

8643518206, AG=0 @} 62 @smaamalied alsaodrilaaemale

Question Number : 35 Question Id : 8643512735 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The INCORRECT statement(s) about heavy water is (are)
(A) wused as a moderator in nuclear reactor
(B) obtained as a by-product in fertilizer industry
(C) wused for the study of reaction mechanism
(D) has a higher dielectric constant than water
Choose the correct answer from the options given below :
Options :
8643518207, (&) O

8643518208, D) Only

8643518209, (P) only

s643518210, \B) and (D) only

Question Number : 35 Question Id : 8643512735 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AIMEZLIOOE MonlMUWle] 6MRI@ (IMIMOCUM/dbid afy® ?
(A) muglood dloossdlad emoanenqd @ Halewoudleninm.

(B) wmoqucug miidamosm alicumo@enilad 8o} Sal O@almmmo aldeaym).
(C) dwosxdd eaendmlmuemmEe)Clal aldlen)mMmailod ealecwoudleninm).
(D) esgemmHNID HWDMM e RISIe: mudloso e

®06)¥ 6H0S)aTldlanimauaiad oo dlwow semoe GloaeTms e :
Options :

8643518207, (©) @O@o

8643518208, (B) @o®o0

8643518209, (D) @O@o

8643518210, (B) @30 (D) @ md(@o

Question Number : 36 Question Id : 8643512736 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

The correct order of conductivity of ions in water is :
Options :
8643518211, €87 > Rb¥ >K* >Na*

1 ] b B
8643518212, Na© > KT >Rb™ > (s

b =+ - b b
2643518213, KW >Na® >Cs™ >Rb

8643518214, Rb* >Nat >K* > Li*

Question Number : 36 Question Id : 8643512736 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

zeimileles smemeaglaldloins i @hao ag)Pimid :
Options :

8643518211, Cs* > Rb* >K* > Na*

MNa* >K* >Bb* > (3"

8643518212.
b b b 13
8643518213, = > Na® >Cs™ >Rb
b b 3 + o
8643518214, Rp" > Na® > K" >Li

Question Number : 37 Question Id : 8643512737 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compound CANNOT act as a Lewis base ?

Options :
CIF

8643518215, 7

8643518216. s

8643518217. NF;

S 4
8643518218.
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Question Number : 37 Question Id : 8643512737 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
MIOY OISO H0)M Mo SMEREIE 2 l@lm’ eerumy @D (aloudom] 860 Mm@
ap® ?
Options :
CIF
8643518215. —

PCI,
8643518216,

8643518217. i

S
8643518218. 4

Question Number : 38 Question Id : 8643512738 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the spin-only magnetic moment value (BM) of a divalent metal ion with atomic
number 25, in it's aqueous solution ?

Options :

8643518219. 5.0

8643518220, 226

2
8643518221. et

8643518222, “€10

Question Number : 38 Question Id : 8643512738 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@penodle Maud 25 988 6] enaall aope avewosmien zellwelowrialegs

mialldd eendell moungles emoeam@loc (BM) allel agmm ?
Options :
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8643518219, 2.0

8643518220, 226

8643518221. 5.92

8643518222, 4SO

Question Number : 39 Question Id : 8643512739 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  Potassium permanganate on heating at 573 K forms potassium manganate.

Statement Il : Both potassium permanganate and potassium manganate are tetrahedral
and paramagnetic in nature.

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :

8643518223, both statement I and statement 11 are false

R643518224. Both statement I and statement Il are true

8643518225, Statement 1 is true but statement 11 is false

8643518226. Statement 1 is false but statement 11 is true

Question Number : 39 Question Id : 8643512739 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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OeNE (INI@OCLMLID 2 10IONS 61hISIBNMY:

almdmocum I: ©alogomyje eald@oddwemy 573 K cuen a1)soH6@oad ©aldgomyo
DOMUWEME OENBIHIT],

almd@mocum I : ©alogomyje  eadmomdmemgylo,  ©aldgomje  @IMweEmgylo
£S(S0adflWEMmI6M, aldIMOUIMElH: MVIEONIDIBEMmIMOEN.

D)@ 6305 )BT ] MVMOCLMBHRINS LS o JOVHl @ @06 6105 )oVHdleajmauaiad ol

afAUle (RE@OW SEMM @ RAEETIMNSIH6)]db.

Options :

8643518223 30 MEN MW ENSIMENTITW Jo ladmomocUm Wm0,

8643518224, M0 Me)MTWIo OENSIME6NTTW o fl OEOCLIN camlaem.

8643518025, TGN @O Cadl@io MENSOMED®D (A IMI@ICUM EDEIMIET).

2643518076 BMMODOOD ([ IMIMICUM HBRo AENBIMODD (o lMI®OCUM Lddlwimosm.

Question Number : 40 Question Id : 8643512740 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reducing smog is a mixture of :
Options :

8643518227, MoK fog and Oy

Smoke, fog and SD:,_
8643518228.

Smoke, fog and I\IE‘D3
8643518229. -

Smoke, fog and CI—I}.i =CH-CHO
8643518230.

Question Number : 40 Question Id : 8643512740 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
milerosmilaodlmow micmoud ag)niliend alvglmasm
Options :
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8643518027, TIBA, 6anowd, Oy agmilau

8643518228, (MiEmIdh, Gandwd, SO, n@mﬂm

2643518220, MOCMOdL, GnOdUI, N,O, ng}nﬁim

MiEmOds, Gnndwd, CH,=CH -~ CHO ag)nrilcu
8643518230.

Question Number : 41 Question Id : 8643512741 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement 1 :  Retardation factor (R;) can be measured in meter/centimeter.
Statement Il : R, value of a compound remains constant in all solvents.
Choose the most appropriate answer from the options given below :

Options :

8643518231 Both statement | and statement Il are true

2643518232 Both statement I and statement 11 are false

8643518233, Statement 1 is true but statement 11 is false

8643518234 Statement 1 is false but statement 11 is true

Question Number : 41 Question Id : 8643512741 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

®OOP MENZ [l MIMOCLIM LD 6)10S )midleninn) -

ladmdmocum 1:  dlgodemaumd anodssd (R) algdeeo, amadldgdlealo apasanoniimmoe).
ladmdamocum 11 : a@Eemon) en@dhamialo 6] Mowismasion R, allel cudlemocidene.
@069 6hosiEmldlenymaiaia olom a@palie Ao SEMmDe BREETMSIH6 .
Options :

8643518231, ENIAEN TR0 OENSIMENTTW o E{}Jﬂ‘ljm‘}[}mm&gﬁ: cadlaem.

8643518232 63NIMENTIWIo ENSIMENTTW jo @aﬁmamm&tﬁ ENM O 6.
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8643518233, SO @ENT® (ol MmO Oﬁfﬂ@éo MENE0MEXTD (ITVMICUM XM EMIEIT).

R643518234. SMODMSE® (ol MmO MALo MENSOMETD) o mimacum mfﬂlm%masm.

Question Number : 42 Question Id : 8643512742 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is an aromatic compound ?

Options :

8643518235.

8643518236.

b
B
D,

8643518238

Question Number : 42 Question Id : 8643512742 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@069 6hosjEldlanimaidiad ErerImdFks: MowHmemd) ?

Options :
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8643518235. :>
8643518236. :>©
8643518237. @
8643518238.

Question Number : 43 Question Id : 8643512743 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HISr

Ty

(Major Product)

Product “A" in the above chemical reaction is :
Options :
Br

8643518239.
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= CH,

CH,

Br
[:::::T::ETJICHIB
Hy
Br
CH;

Question Number : 43 Question Id : 8643512743 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HBr
—_—

CCly  (jaiwom aaimo)

8643518240.

8643518241.

8643518242.

CH,

DA OBosioTlgias eomaludemmesins malmo”A” afy® ?

Options :
Br

8643518239.

CH,

'H
8643518240. s
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Br

CH,
8643518241, Hj
Br
CH,
8643518242, CH

Question Number : 44 Question Id : 8643512744 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1 OTNa™

+ NaCOH

v

The above reaction requires which of the following reaction conditions ?
Options :

= » |
8643518243, 023 K, Cu, 300 atm

g64351844. 273 K, Cu, 300 atm

o |
8643518245, 023 K, 300 atm

8643518246, 272 K 300 atm

Question Number : 44 Question Id : 8643512744 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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+ NaOH

Y

0 ) &) @ OF ) lod U @ O @ MO UK DOW QUYL OO s (D MO

eS| omildlenmaala ol aloeemms 1@ jd:.
Options :
8643518243, 023 K, Cu, 300 atm

8643518244, 973 K, Cu, 300 atm
8643518245, 623 K, 300 atm

8643518246, 272 K, 300 atm

Question Number : 45 Question Id : 8643512745 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Mesityl oxide is a common name of :
Options :

: f = g
8643518247. 4-Methyl pent-3-en-2-one

3 AT E -9
8643518048, 2-+-Dimethyl pentan-3-one

8643518249. 2-Methyl cyclohexanone

8643518250 3—Meth}-'l C}fclf}hexa ne carba I::leh}-'de

Question Number : 45 Question Id : 8643512745 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

®06)¥ 60S) Tl dlenMmadiad of@lan avowonem ealaoem eamiiglad esoshemrual ?
Options :
8643518047 TSSO OaldF-3-g000d-2-6306r1D

8643518248, 00O Halem-3-e06nd
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8643518249.

8643518250.

Question Number : 46 Question Id : 8643512746 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Hoffmann bromomide degradation of benzamide gives product A, which upon heating with

fCI-I-‘CI3 and NaOH gives product B.

The structures of A and B are :

Options :

8643518251.

8643518252.

8643518253.

8643518254.

NH,

Q

NH,

2-dleenad ms}mm@as}mﬁmmmam’b

3-dleendd aamegrnandk:emit sodenloaialleaanal

NH,

B — é)/fllﬂ
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Question Number : 46 Question Id : 8643512746 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ONUIMI0OHMO, EaD0almond ¢lnionemn ulewasmd (eloud@mmoe MmsemmMalond

2onmo®] ‘A’ af)Mm S@almMo aElenim). @® CHCl,, NaOH agmiouo)mo ol

01)S086)eMU0MD ‘B” ag)mn &@alimo aldleanim). ‘A’, ‘B’ amicumies ceism, @Lodd:mo :

Options :

8643518251.

8643518252.

8643518253.

8643518254.

Question Number : 47 Question Id : 8643512747 Question Type : MCQ Option Shuffling : Yes Is

o)
NH,
A =

NH,

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

NH,

B — éj/f_ll'@

52/92



3/17/2021

O O

M ] Ethylene Glycol
{J("ZHE e A

H* (Major Product)

The product “A" in the above reaction is :

Options :

8643518255.

8643518256.

8643518257.

‘ 0
Sl
OCyHs5

8643518258. -

Question Number : 47 Question Id : 8643512747 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
O O

.fleflod eeneHnamd

H" (lndwom §@almo)

o)bsler pomilcudemmoiiesl “A” agim &malimo af® ?
Options :
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8643518255.

8643518256.

/DCEI Is

OH

8643518257.

\ O
D%L
OCyH5

8643518258.

Question Number : 48 Question Id : 8643512748 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reaction is an example of ammonolysis ?
Options :

2643518250, 8 B HEELNED 5 HCONEC s

CH.CH.CN Ml . c H.CH.CH.NH
8643518260. & 2 2 ——— LghstiyLisIN,

CeHsCH,Cl+NH; —, C;H.CH,NH,

8643518261.

8643518262. CeHsNH, H9 | GH;NH;3Cl

Question Number : 48 Question Id : 8643512748 Question Type : MCQ Option Shuffling : Yes Is
54/92



3/17/2021

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

®06¥ e Siamldlenim (cudemmeesiad, mreaoesmonaaimilmiay’ §E0aNreMAIW &)

(L cudmmemen ?
Options :
s643518259, 65O +CHNHy) —— CH;CONHCH,

C,H.CH,CN _Hl . C.H.CH,CH,NH,

8643518260.
seus15ag) CoHsCHRCLH NHy — CgHiCH,NH,

Question Number : 49 Question Id : 8643512749 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
With respect to drug-enzyme interaction, identify the wrong statement.
Options :

Compe’rifive inhibitor binds to the enzyvme’s active site
8643518263. i

8643518264, Allosteric inhibitor changes the enzyme’s active site

3643518265. Allosteric inhibitor competes with the enzyme’s active site

2643518266, Non-Competitive inhibitor binds to the allosteric site

Question Number : 49 Question Id : 8643512749 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(WUI-ag)MDeO M0 S l$Helmow] MIMbea|s, HMRIW (alNimoam @ldle)]Cla)d..

Options :
8643518263.
ageamudeng eaasiol aamgld, emomiegalal omadlmligd @isSlealoim,

8643518264, ageamuden easdal eamglom eeeelomiandd smadlenlind mogim;.
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8643518265.
agdeemdlen apasinl aanmpmoel apeaominncke enaadlenilqd aadeninmy.

8643518266.
@reelomiengdd eaamgla emoemd- eaomigligial eomadlenind sisie.ajoimi.

Question Number : 50 Question Id : 8643512750 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is correct structure of tyrosine ?

Options :
COOH

HpN OH

&

8643518267.

COOH

H,N

Eiﬁt
O
aw

8643518268
COOH
H,N

OH

=4

8643518269.

COOH

H,N

OH

5

8643518270.
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Question Number : 50 Question Id : 8643512750 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

®o6? ehosiEmldlenymaiaia, easeoomilean rdlwom caism af® ?

Options :
COOH
8643518267.
COOH
H>N H
OH
8643518268.
COOH
H,N H
OH
8643518269.
COOH
H,N H
OH
8643518270.
Chemistry Section B
Section Id : 864351184
Section Number : 4
Section type : Online

Mandatory or Optional : Mandatory
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Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351184
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643512751 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The mole fraction of a solute in a 100 molal aqueous solution is » 1072,

(Round off to the Nearest Integer).
|Given : Atomic masses : H: 1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643512751 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

100 emogodd zelwenwniaieyss ey elmowlon emowd (noddauad XD

e ldsnio (HMIZSITM al)DEMaIVoB)WOHE)dh)
(@oenodle: momy : H:1.0u, O: 16.0 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643512752 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The pressure exerted by a non-reactive gaseous mixture of 6.4 g of methane and 8.8 g of
carbon dioxide in a 10 L vessel at 27°C is kPa.
(Round off to the Nearest Integer).

[Assume gases are ideal, R=8.314 | mol S

Atomic masses : C: 120u, H: 1.0 u, O: 16.0 u]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643512752 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

27°C @, &0} 10 L alo@@silad 6.4 g (1000 dienmio 8.8 g (1090 &0denlsmesw eomeema)o

af)S)emIgeng. alnmialee loudemilenomm D cuomde dlgylmo (alewoudlenimm abdago
kPa @pwild#nio. (0®OSS)@ aljdemnMoa)@ode d)

(CuomBemEd Hagrul@ad cuomdEsmRaeemm @mmonienis R=8314 ] mol -1 K1

@ReRodld: momy : C:12.0u, H:1.0u, O :16.0 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643512753 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A certain orbital has n=4 and m; = —3. The number of radial nodes in this orbital is
. (Round off to the Nearest Integer).
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100
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Question Number : 53 Question Id : 8643512753 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n=4, m = -3 @AY &80} ldev)d aodmligelleygs coull@@ emoaHaIOS ag)emo
@ Wldlenjo. (O®OZSID al)BEMIVCA WIS )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643512754 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

I and

The standard enthalpies of formation of Al,O; and CaO are — 1675 k] mol
635 k] mol ~! respectively.

For the reaction

3Ca0 +2A1 — 3Ca + Al,O, the standard reaction enthalpy A H?= k]J.

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643512754 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Al 0, Ca0 agmilai@ies guomeawdal’ ag)odiall 8Jal Gn0ddEMaUMD @LOO(HMO
1675 k] mol ~ 1, —635 k] mol ~ lagyarisvemaoem.

3Ca0 +2A1 — 3Ca + ALO, o) (alcudmmmasiion guomdecdol Glaossi ag)idootdel

A HO= k] @p@ldlenlo. (OMIZSIOM aljdEPIVos)@Oss d:)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 55 Question Id : 8643512755 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The oxygen dissolved in water exerts a partial pressure of 20 kPa in the vapour above water.
The molar solubility of oxygen in water is %107 mol dm ™3,
(Round off to the Nearest Integer).
[Given: Henry's law constant = K, =8.0 x10* kPa for O,.
Density of water with dissolved oxygen = 1.0 kg dm 3]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 8643512755 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ool aelay) cadmmigies aommilggm, Reliewln’ aidmslengs eala|dlad 20 kPa
couileadae (alodayy@ (ad ) (ewoddlanim) Rermleyss sosmmizem eoogod

saoelyendlefigl __x107> mol dm~3 mpnldleslo. (emags o

aljdemmosy@iad )
(eodmilzen aaomdlny’ dloa cudleome K, =8.0x104 kPa, O,)
(@oammiledd einfloy) codmmigies Reiemieon qwom® = 1.0 kg dm~3)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643512756 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0.01 moles of a weak acid HA (K,=2.0 x10 %) is dissolved in 1.0 L of 0.1 M HCI solution.
The degree of dissociation of HA is %10~ (Round off to the Nearest Integer).
[Neglect volume change on adding HA.

Assume degree of dissociation <<1]
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643512756 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.1 M HCl &} 1.0 efigd enocicid, HA agmm alles epmialien (K,=2.0x10"°) 0.01
cmog)sdd eldiaflafldenimy HA @es alligdl 8oad alflecomiic@auad g |
@pWldenlo. (HMISSIO® allbENIVoEWIHE )

(HA col@H6)EMI0P1emEddim jdal®alymjomo @ocUmemlenid. il eoan’
aflemomile@auad <<1 ag)m @RMI@ITles i)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643512757 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

15 mL of aqueous solution of Fe?* in acidic medium completely reacted with 20 mL of
0.03 M aqueous Crzf}f}_. The molarity of the Fe?* solution is %102 M. (Round

off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643512757 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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eemilaufle mowinmdlelgs Fe?t eom 15 mL zeloesodle® 0.03 M @@ 20 mL
zefllwawrlosw .Cr:;_.{-.}%_ oldafldlaoemo msemymmy. Fe?t eioomloes amogodldl

x1072 M @puldlenjo. (6®ISSIOM alldenavoay))

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643512758 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
For a certain first order reaction 32% of the reactant is left after 570 s. The rate constant of

this reaction is %1073 s~1. (Round off to the Nearest Integer).
[Given : logy32 =0.301, In10=2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643512758 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

570 s M @aYo B0} an@y) S0dWd (laudemmaslens 32% eniodse] alsenimm]. e
lalcud@mM@TION eOm G06rmdERm x1073 s 1 eooildlenio

(O@OZSIOM al}BEM VOB WO dh )

(log,e2=0.301, In10=2.303)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 59 Question Id : 8643512759 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The reaction of white phosphorus on boiling with alkali in inert atmosphere resulted in the
formation of product “A’. The reaction of 1 mol of A" with excess of AgNO, in aqueous
medium gives mol(s) of Ag. (Round off to the Nearest Integer).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643512759 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

OHAUBR EandManOM ER@snelwimod eaidem) somds aldmmudladich alaallajwlon
anelno®f ‘A’ ag)m S@alMo HEMEIE:INM). B0} CMD ‘A’ WIrdeMonHWSIEM AgNO, @es
zelloepnodomod (aoudemleniemioud emotd (6Umo) Ag HENBOCM).
(@S l)BENMOEOSHH:)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643512760 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

NO,

HNO,4
H,S0,

L
Il

In the above reaction, 3.9 g of benzene on nitration gives 4.92 g of nitrobenzene. The
percentage yield of nitrobenzene in the above reaction is %. (Round off to the
Nearest Integer).

(Given atomic mass: C:120u, H:1.0 u, O: 16.0 u, N : 14.0 u)

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 8643512760 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

NO,

HNO;
H,S0,

D)dnel@d H0SIm (UdEmMEDIE@ 3.9 (oo eeamilad HemMESAHD MSEmIEMUIIUD

4.92 (oo eemMeSoamMIMmind adsnim]). 9 udemmemd, eemaesoesamaiion
caldememz aladay % @pWldlénio . (HMISSIOD aljdeNIVoa)WIHE )
(C:120u, H:1.0u, 0 :16.0 u, N : 14.0 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A
Section Id : 864351185
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351185
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643512761 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In a school, there are three types of games to be played. Some of the students play two types

of games, but none play all the three games. Which Venn diagrams can justify the above
statement ?

P Q R
Options :
8643518281, L and Q

8643518282, L and R

8643518283, 2 and R

8643518284, [None of these

Question Number : 61 Question Id : 8643512761 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘B0 MidbEl@ o) ®oewflelas Helldaid MsEmee|SIM] &l0a] HiSled 2 selleld
ale@mSIENIM). af)MOIM @Dlo @I &Eldglo Helanimmlgl.’ mdshalad aloemm

(I mimonume®os cogdlesn)mm ‘e (o’ agma :

P Q R
Options :
8643518281, | @30 Q @yo

8643518282, | Wio R @o
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Y @io R
8643518283, = 2o K &0

& ail
8643518284 &

Question Number : 62 Question Id : 8643512762 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The area of the triangle with vertices A(z), B(iz) and C(z +1z) is :

Options :

8643518285.

8643518286.

P | -

8643518287.

—

8643518288.

Question Number : 62 Question Id : 8643512762 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A(z), B(iz)C(z +iz) 00 (BlRabemB80@ (@lesHoemanion aldajaal agoma :

Options :

= |

E z 4 {22
8643518285.

g

'} Far
8643518286, 2

g |

>
8643518287
8643518288, 1
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Question Number : 63 Question Id : 8643512763 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

y (0 sine ' o 33 _ :
If A=] . and det| A —1 | =0, then a possible value of « is :
| sino [.'l/. ! 2.9
Options :
L
8643518289, *
i
3
8643518290.
w
8643518291. ©
=
-
8643518292. =

Question Number : 63 Question Id : 8643512763 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(0 sinm) (5
A= ! |, det | A
| Sine 0) \

1

-

b’
1| =0 @@, a#s MEaallm amelo :
4

Options :

.Tr
4

8643518289.
.'.r
3

8643518290.
.Tr
&)

8643518291.
-
2z

8643518292.
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Question Number : 64 Question Id : 8643512764 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The system of equations kx +y+z=1, x + ky + z=k and x + y + zk=k? has no solution if k is
equal to :

Options :

8643518293.
8643518294.

8643518295.

8643518296.

Question Number : 64 Question Id : 8643512764 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
kxty+z=1, x+tky+tz=k x+y+zk=k? agomil moacios)emides aldlanonalag)s] d,
k agyoma) :

Options :

8643518293, U

8643518294, 1

8643518295, 1

2
8643518296. =

Question Number : 65 Question Id : 8643512765 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Team ‘A" consists of 7 boys and n girls and Team ‘B’ has 4 boys and 6 girls. If a total of 52
single matches can be arranged between these two teams when a boy plays against a boy
and a girl plays against a girl, then n is equal to :

Options :

.
8643518297. ~
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8643518298. 4

8643518299. 5

8643518300. R

Question Number : 65 Question Id : 8643512765 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Slo ‘A’ W@ 7 @peMdds)Slealo n Oalemd)Slealo, Slo ‘B dl@ 4 @medds)Slea)o
6 ealenddsSlaglo BOR|SIM). Y MenE Slaisesisullaio 8o} @IS anQI]
@DENMdh SN0 BO) HaleNde:ls MOHRO) HaliMd)Slnsanianmio ag)m (o wsad
@6 52 METVIBUW MSMTIWOE, n agm@®) :

Options :

8643518297.

8643518298.

8643518299.

8643518300.

Question Number : 66 Question Id : 8643512766 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the fourth term in the expansion of (x 1 xlogp M7 is 4480, then the value of x where x € N is
equal to:

Options :

8643518301, 1

8643518302. :

8643518303. 3
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8643518304. .

Question Number : 66 Question Id : 8643512766 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(x + 21082 97 agmadlend aflaelscemasicd moenaamm alGo 4480 EoeemEl@, x e N

ag)mM@I@, x &M ;ielo agmo) :
Options :

[==1

8643518301.

8643518302.
3

8643518303.

8643518304.

Question Number : 67 Question Id : 8643512767 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
The value of 4 ] is :
5 4 :
4 A ;
5 4
44+ ... e

Options :

: ~

2 =30
8643518305. 5

2+ L%
8643518306. Vo

5+ 230
8643518307. 5

. —

4 4 —gq’_.n
8643518308. v
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Question Number : 67 Question Id : 8643512767 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4 4 = 7 af) M6 mlefo :
1
4 4 1
54
4+ ... %
Options :
‘.
2 + =/30
8643518305.
4 ,—
2 + —+/30
8643518306. 5
4
5+ =30
8643518307. 2
. T
4+ —~/30
J5
8643518308.

Question Number : 68 Question Id : 8643512768 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If cot—1{a)=cot~12+cot =18 +cot 118 + cot— 132+ ..... upto 100 terms, then « is :
Options :

8643518309, 1-00

8643518310, 1-01

8643518311, 102

8643518312, 1-03

Question Number : 68 Question Id : 8643512768 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

cot " o) =cot 12+ cot 18 + cot ~ 118 + cot ~132 + .....100 alB6RGD EROEMBIT o« afM@

Options :

8643518309. e

8643518310, 101

2
8643518311. 1.02

8643518312, 1-03

Question Number : 69 Question Id : 8643512769 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The inverse of y= 5logx jg .

Options :

' 1

x = 51°8Y
8643518313.

1

x=y o5
8643518314. :

- = glogy
8643518315,

1 =y]t};_=;5
8643518316.

Question Number : 69 Question Id : 8643512769 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
y =5'98% agymaflodd eodenumy :
Options :

1
x = 5108

8643518313.
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x =1 :35_;5
8643518314.
x = 5logy
8643518315.
LT
8643518316, XY=V "¢

Question Number : 70 Question Id : 8643512770 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

lim €os Y(x = [x]?) - sin}(x = [x])
: +
x—0 x — x3

The value of , where [x] denotes the greatest

integer = x 18:

Options :

ek

8643518317.

8643518318.

SIER

8643518319.

2

8643518320.

Question Number : 70 Question Id : 8643512770 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
lim €OS (x [x]z] - sin” T x [1‘]2]

t
x— = Ifi

, agmailen mielo ([x] egrmal x ¢mMos mielemd

@A HOMMEMO @DW OWDMM aljdeMroswosm) :
Options :

Ll

4

8643518317.
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0
8643518318.

*1ER

8643518319.

8643518320.

Question Number : 71 Question Id : 8643512771 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is incorrect for the function g(a) for « € R such that

sin®x

g(w) = dx

cos™x + sin™x

[ ey L

Options :

8643518321 g(w) is a strictly increasing function

8643518322 g(«) is a strictly decreasing function

1
g(«) has an inflection point at « = 2
8643518323.

g(a) is an even function
8643518324.

Question Number : 71 Question Id : 8643512771 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

am
; sin™ i
I PR @D adMBHMD g(a) for a e R 0 WAWLPOED (olrimocum,
m

[
MY oS Vil dlen)Mmauaiad agmoem ?
Options :

s6a351837. 5@ @M@ @ldnolo @adilmiied anasaumosm
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8643518322, Bl @M@ @lleb.alio al@lmiler anedaumosn?

g(c) agymaflal o = b e6Qmud calowilid oend
8643518323, 2

g(o) agMmm e0ocUd anedaumoen
8643518324

Question Number : 72 Question Id : 8643512772 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is true for y(x) that satisfies the differential equation

d
ﬁ =y —1+x—y;y0)=0:
Options :
R
y{l)=e 2 -1
8643518325.
1
y(1) =e2 — 1
8643518326. v
' 1
y(1)=e? —e 2
8643518327. y()

g643518328. V(1) =1

Question Number : 72 Question Id : 8643512772 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
% =xy —1+x—y; y(0)=0 ag)m UWlanOMaH@ MUBAUIHI0 DROBNHOERIMN Y(x) -0
AWIRE MIOY OBISIEMIGlEa MU apmos) ?

Options :

I«.I'l-—-

Il
o

y(1)
8643518325.
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' 1
y(1) =e? —1

8643518326.
' 1 L
yl)—e? —e 2
8643518327.
=1
8643518328. y{ ]

Question Number : 73 Question Id : 8643512773 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a triangle POR, the co-ordinates of the points P and Q are ( — 2, 4) and (4, — 2) respectively.
If the equation of the perpendicular bisector of PR is 2x —y+2=0, then the centre of the
circumcircle of the APOR is :

Options :

8643518329. (1, 4)

8643518330. . 2)

(-1, 0)
8643518331.

(-2, -2)
8643518332.

Question Number : 73 Question Id : 8643512773 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(@ehoemo POR -@, P, Q HOU®IOS (M0)oldsTobljds(d @LNd(dhmo (—2, 4), (4, —2)
agilemBommosm. PR 6 eloent MncIZEl@ies maaddio 2x —y +2=0 @oeemslo,
APQR - &0} aldlouy@meds(Boe ag)m :

Options :

8643518329, (1 4)

8643518330. ©.2)

(1,0
8643518331,
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2
8643518332. e

Question Number : 74 Question Id : 8643512774 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The line 2x —y+1=0 is a tangent to the circle at the point (2, 5) and the centre of the circle
lies on x — 2y=4. Then, the radius of the circle is :

Options :

8643518333. 53

8643518334, V4

8643518335, 45

a5
8643518336. 35

Question Number : 74 Question Id : 8643512774 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(2, 5) agym enflozyalldd cuyemETileaen s amOSIAIAWINS TVACUOEmoeM 2x — 1y +1=0
Q) M@, QUYEMEd (B x—2y=4 @ mudlalealgimiecsld, auyemaslen eeo
ag)omas :

Options :

8643518333, V3

8643518334. 5V4

i

8643518335.

8643518336. 35

Question Number : 75 Question Id : 8643512775 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statement about the two circles whose equations are given below :
x2+y?~10x — 10y +41=0 and

x?+y?—16x— 10y +80=0

Options :

8643518337, Circles have two intersection points.

2643513338, Both circles pass through the centre of each other.

8643518339, Both circles’ centres lie inside region of one another.

8643518340, Distance between two centres is the average of radii of both the circles.

Question Number : 75 Question Id : 8643512775 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@Bl 6N CLYED TUDOLI|ETBURHE WAL [l MImOAUM af® ?
x2+y2—-10x—10y +41=0

x2+y?—16x—10y +80=0

Options :
9643518337 QU OMETBWDES) hSImISIm e enllo3ientd eene.

c64351833g. 6T QUYODETBGL0 aloMialto QALEMEHMOT YOS dhSIMNICa IO,

8643518339.
6N (L)OMETRRIOSW o Cdh|MEIRMD aldminldo amMimeemonil qudl@le.alig)m).

8643518340.
o6NE U OmEHRaRelo Mmadlayes Gle EROIWINS EYORRINS LdOOUEWOE:

Question Number : 76 Question Id : 8643512776 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The equation of the plane which contains the y-axis and passes through the point (1, 2, 3)
is :
79/92
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Options :

8643518341, X tz=6

8643518342, X+ 3z=10

8643518343, ¥ 132=0

8643518344, X —z=0

Question Number : 76 Question Id : 8643512776 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(1, 2,3) agym enflozjafleles #smmealddiMmmie y-Bodto HUbeL|SIMMmMOW ®RIGHIe R
(ODOUOSMIE

Options :

8643518341, X 126

x+3z=10
8643518342.

8643518343, Y 13z=0

8643518344, oX 2= 0

Question Number : 77 Question Id : 8643512777 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the Boolean expression (p = q) < (q # (~p)) is a tautology, then the Boolean expression
p * (~q) is equivalent to :

Options :

3

—~4
8643518345.

8 e
8643518346. : ;

[ial

e
8643518347.

8643518348, 1P
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Question Number : 77 Question Id : 8643512777 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(p=q) < (q*(~p)) agom eniglomd codie 60} 6soe50e @ReemE:ldd, p * (~q) agm
el o\l melmo

Options :

8643518345, 1

8643518346, F 71

8643518347. 17 P

8643518348. 1P

Question Number : 78 Question Id : 8643512778 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let a =2i ~3j +4k and b =77 + j — 6k.

—

* b, ? : l; | 2; | k = —-3,then r - ?; '5; | k is equal to :

—— — ———
I

It r x a =

Options :

8643518349. 8

8643518350. i

12
8643518351.

8643518352, 1°

Question Number : 78 Question Id : 8643512778 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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a=2i 3] +4k ®0 b =7i + j — 6k Ho @DBIM],

r Ko K by w ke 205 k) = -3 @p cooem@@, 1 - (27 3] 1) agma :
Options :
8643518349, ©

10
8643518350.

8643518351. .

8643518352, 19

Question Number : 79 Question Id : 8643512779 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two dices are rolled. If both dices have six faces numbered 1, 2, 3, 5, 7 and 11, then the

pmbabilit}-' that the sum of the numbers on the top faces is less than or equal to 8 is :

Options :

5
8643518353, 12

E
8643518354, °

b )

8643518355, 36

8643518356.

Question Number : 79 Question Id : 8643512779 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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oeng ‘aeaam ’ onigimm). oeng aewmilo@mio 6 meusmsgldd 1, 2, 3, 5, 7, 11 agom]
ERLOETBWD OeensElad, mimaldd ol mIEUMBEHINRI MoHEINS Mid: 8 -0 MeNEmO
@O BHJOCLO EDMHIMIBH TUOWN® :

Options :

o
]

8643518353.

uﬂlm?

8643518354.

215

8643518355.

| =

8643518356.

Question Number : 80 Question Id : 8643512780 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of possible values of x for tan HYx + 1) + cot 1{ t 1} = fan 1(
WX / '

Options :

8643518357. 4

8643518358, 4

8643518359.

8643518360. 4

Question Number : 80 Question Id : 8643512780 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

' l AY ' 8 1Y -
tan"'(x +1) + cot'| ——| = tan""| = | agymaflad x -0F oW MIENETERIOS ®b |
X L g
Options :
33
4
8643518357.
32
4
8643518358.
31
4
8643518359.
3_[]
4
8643518360.
Mathematics Section B
Section Id : 864351186
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351186
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643512781 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The maximum value of z in the following equation z=6xy +y?, where 3x +4y = 100 and
4x+3y = Dforx 2 0andy = 0is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
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Possible Answers :

100

Question Number : 81 Question Id : 8643512781 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

z=6xy +y* ag)n MAUIBYOW@ z - @ maEdHoam aleaouw] @ielo e
@em. @, 3x+4y = 100 ®o 4x+3y = 75 Ho @DHBYMY. x = 0,y = 0

@D 6.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643512782 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

-

a 3 : .
If A= [” 1] , then the value of L10_L{A4] | do.L[.Am (Adj(2A) ]1{}}'

)| isequalto
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643512782 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 3 | -
A= [“ Jm@cmnm‘a, det(A?) + det(A10-(Adj(2A))"? ) agmaNonq ajelo

i

([BIE.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 83 Question Id : 8643512783 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If (2021)%°2 is divided by 17, then the remainder is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643512783 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(2021)3762 agymailem 17 edene andlajom, tlladSo  @dhiom).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643512784 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

cos(sinx) — cosx

1,4

If the function f(x)= is continuous at each point in its domain and

£(0) = % then k is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643512784 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0

flx) = ms{smxi 2 g™ anedaumd ee@lon msmbeliewiesal acend mllmjalmio
X

dHeNZIMPOUMS @Ddhjd@io  f(0) =% o @DOM, k ayMmm _ @pem.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643512785 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If [ - ] represents the greatest integer function, then the value of

\F
JJt [[12] cnsx}::h‘ i

0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643512785 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[ - ] agn@ ®@dmm mg,r‘bsm aNeBaH0D @6 6mes @,

\,I'I%
| [[Iz] cosx} dx| agemailedh ajeyo  @pem.
0
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 86 Question Id : 8643512786 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
The minimum distance between any two points P 1 and P':2 while considering point P | On one
circle and point P, on the other circle for the given circles’ equations
x2+y2—10x— 10y +41=0
x4 y'""- 24x - 10y +160=0 is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643512786 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@06¥ EBOS)ATAHH)MM UYODETBEOS TOACUIH|ETRE @,
x2+y2—-10x— 10y +41=0
x2+y2—24x—- 10y +160=0

P, egma@ e} cujemodiies emllas)jalje P, ag)ma @rsiem ayemosies enimjallo

ik

@oeem®led P, P, snwiesIseilcd 088 &H106mm G)00 )@ @Dem.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643512787 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[f the equation of the plane passing through the line of intersection of the planes
2x -7y +4z—-3=0, 3x—5y+4z+11=0 and the point (-2, 1, 3) is ax +by+cz—7=0, then

the value of Za+b+c—7 is
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 87 Question Id : 8643512787 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(-2, 1, 3) agyon enfloziafleeswio 2x— 7y +4z—3=0, 3x -5y +4z+ 11 =0 ag)o’ @elstBud
Mot E6MM CREIDIIOS®I0 &S] GalddhlM MOEOM, EIGTIONR VDS M6
ax +by+cz—7=0 ag®l@d, 2a+b+c—7 amaied aello  @Ddbim)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643512788 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Let there be three independent events E;, E, and E,. The probability that only E, occurs is «,
only E, occurs is {3 and only E; occurs is y. Let “p’ denote the probability of none of events
occurs that satisfies the equations (a—2B)p=aff and (p —3y)p=2py. All the given
probabilities are assumed to lie in the interval (0, 1).

Pr obability of occurrence of Eq

Then, is equal to

Probability of occurrence of Eq
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 88 Question Id : 8643512788 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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@y enadadloalddanad soaum@iescsm k), E, E; agmilal. E; mo@moe mocallsenomias
MOWN® o @lo E, mo@o mocall#nomigs mouwy®m  @jo E, mo@o mocallenomias
MOWI® v @Jlo @M. p ag)M® (a—2B)p=ap, d (B —3y)p=2By ag)ml CVDOLIOS)FBUD
A1@odh)M, UMb 8mMio MorAllanI@dlanomigs MIWIMm@OEM. af)gld

mowmdnglo (0, 1) agym oseausdad qudlall 6.aigyiem e s,

E; mocllenomies muowym
E; Muosallenmias mowim

iF i

am@’ @

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643512789 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

_ 1
If f(x)= sm{cns I[Wﬂ and its first derivative with respect to x is —log. 2 when
\, \ A o

x=1, where a and b are integers, then the minimum value of az—b?| is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643512789 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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2y 3
af)m@ilad, x -em Epwylal anekauand @ay ewdlecugial

: 111
x)=gsin| cos | ———
) { [1 | 2"—1'U

x=1ad E]nge 2 epeemslad, (a, b A alydemmoslydd ) |a®—b?| agemailey’
d

ir

MA@ HIUIN HIOSTD Mo @6

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643512790 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e

If a =ai +Bj +3k,

b = [:":.!'~ n;‘ R and

—

such that a - b =1 and E

— 3, then %[{: - Ej : :] is equal to

C
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643512790 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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— P P M — A A A Ty A ! A C ey
a=ai +Bj+3k, b=-Bi-aj-k, ¢c=i-2j-k ogmal®d, a-b-=1,
i oy ]_ il _{ R =

b c = -3@wom, (7, b).2) agmad  @mend.
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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